
Fails C M P R S R R S R P R S R P R S R R R R R S S P R R P S R R R R R S F M C O C

w = WD l T C C T C C T C C C T C C C T C C C C C T T C C C C T C C C C C T a i l / a

b = missed code board a C 2 2 C 3 3 C 4 4 4 C 5 5 5 C 6 6 6 6 6 C C 8 8 8 8 C 9 9 9 9 9 C i n a A r

c = missed control s 1 A B 2 A B 3 A B C 4 A B C 5 A B C D E 6 7 A B C D 8 A B C D E 9 l s s

o = OTL s s s

A 8 6 V P P T 4 C J O 3 P B D A P V X C 3 6

S 2 9 0 2 R J 6 H N G 4 2 T M S R 0 M C H 3

8 X 2 8 N 1 K C 3 8 O G 3 R K L 5

     

1 Robert / David E 1 3 5 3 - 12 1 2 1

2 John / Ian E 1 7 1 4 - 13 2 3 2

3 Andrew / Marcus I 4 3 2 3 2 - 14 1 4 3

4 Dale  Andrew I 4

5 Jonathan / Josh N 4 2 - 6 1 5

6 Jason / Ian N 2 24 b 1 8 1 35 1 5 6

7 Geoff / Maggy B 2 b 4 1 6 1 13 3 8 7

8 Paul / Jo B b b b 4 b b 6 4 5 10 8

9 Ian / Kate B b 11 b b b c b b b 6 b b 4 10 21 6 11 9

10 Mick / Gill B 3 7 b b b b c 5 10 4 9 10

11 Richard / Martin B b 7 1 4 1 12 2 7 11

12 Garth / Michael B 2 b 1 1 3 1 6 12

A 8 6 V P P T 4 C J O 3 P B D A P V X C 3 6

S 2 9 0 2 R J 6 H N G 4 2 T M S R 0 M C H 3

8 X 2 8 N 1 K C 3 8 O G 3 R K L 5Y

DNF

b

Happy Egg 12 Car - Friday 15th January
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